Question Paper Title : PRELIM-3_P5

Date of Exam : 19-05-2018 12:30 PM

Answer:

Apg ford 3G

Father of Lok Sabha is

A 3HdHIUH
A.Anantsayanam

B.dYHH
B.Bashyam

C.fF g

C.Zkir Hussain
D.HIdAHR

D.Mavlankar

D.HIdARR
D.Mavlankar

5/20 + 1.5-5/25=7

What is 5/20 + 1.5 - 5/25 ?

A.2.975
A.2.975

B.1.55
B.1.55

C.1.175
C.1.175

D.2.7
D.2.7
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Answer:

Answer:

B.1.55
B.1.55

30 AT 80% - 5/20 + 2.25 =

80% of 30 - 5/20 + 2.25 =

A.26.5
A.26.5

B.26
B.26

C.25.75
C.25.75

D.26.4
D.26.4

B.26
B.26

80 <1 25% - 20/25 + 2.5 =

25% of 80-20/25+25=__

A21.7

A21.7

B.22.2

B.22.2

C.21.45

C.21.45
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D.22.1

D.221
Answer: A21.7
A.21.7
5 40 AT 75% - 8/20 + 1.75 =

75% of 40 - 8/20 + 1.75 =

A.31.85
A.31.85

B.31.35
B.31.35

C.311
C.311

D.31.75
D.31.75

Answer: B.31.35
B.31.35

6 ATaeh I Tted T HTDR] HTUBRT BI0T 3MTed ?

Who is the CEO of Microsoft?

A fod icg
A.Bill Gates

B.X g dTeR

B.Steve Ballmer
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Answer:

Answer:

C. T TSl
C.Satya Nadella

D YR foes

D.Sundar Pichai

C. T TSl
C.Satya Nadella

ST aTd HIaT TS HIudT 3TR?

Which is the largest continent in the world?

A.3TRIT
A.Asia

B. 3T
B.Africa

C.3iRefern

C.Australia

D.féror 3Rt

D.South America

A.3TRRT
A.Asia

yurg ot uRis 3fTed

Pranav Mistry is a famous

A RS

A.lnventor

B. WG

B.Sportsman

C.odlPR
C.Artist
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DI

D.Singer
Answer: A TR
A.Inventor
9 Wi Faid A8 Yaig HIodT 3178 2

Which of the following options is the smallest?

A35+575+425-475-45-275+35-8.5
A35+575+425-475-45-275+35-8.5

B3.5+575-425-475+45+275+35+8.5
B.3.5+575-425-475+45+275+35+8.5

C35-575+425-3.75+55+7.75+3.5-55
C35-575+425-375+55+7.75+3.5-55

D55+525+275+325+45+275-35+85
D.55+525+275+325+45+275-35+85

Answer: A35+575+425-475-45-275+3.5-8.5
A35+575+425-475-45-275+3.5-8.5

10 Wcieten! Jald A8 Uaid BT 3MTg 2

Which of the following options is the smallest?

A15-12-10+15-5-5+2-4+8-10
A15-12-10+15-5-5+2-4+8-10

B5+5-10-12+10+5-2+4+8-10
B5+5-10-12+10+5-2+4+8-10

C15-5+10-15-10-5-2-4+8-10
C15-5+10-15-10-5-2-4+8-10

D15-256-10-15-5-5-2-4+8-5
D15-25-10-15-5-5-2-4+8-5
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Answer: D15-25-10-15-5-5-2-4+8-5
D15-25-10-15-5-5-2-4+8-5

11 T BT o 8§ 04% T HI3T 3MT8. T o 81 Y g % g 3T8.
A is higher than B by 75% . Then B is lower than A by %.
A.Ro
A.10

B.Ro
B.20

C4
C.25

D.¥R.(Y
D.42.85

Answer: D.¥R.CY
D.42.85

12 RIFYH ST fael SRear 3Mfor HRdr SWRIPU! ikl Suds! T SidRH Jgud
TEUH ®TY HRUTMNTS! YaId hHARICIT 10T 3R Hd?

In a case of resignation of the President and the non-availability of the Vice-President of
India, who is the next in hierarchy to act as the President?

A TSI TPl

A.Former President

B.<die —TATerTd IR =arTelsr
B.Senior Most Judge of Supreme Court

C.HRAT II=Tanefier
C.Chief Justice of India

D.gaid IRy IIUTd
D.Senior most state Governor
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Answer:  C. YR IRt
C.Chief Justice of India
13 HRATIA Taid 73T fded HIvrar 3g?
Which is the largest fort in India?
AT Tt
A.Red Fort
B.fuxiigTTs e
B.Chittorgarh Fort
C.TMac®IaT fbed
C.Golconda
D. T8RS fdrea
D.Mehrangarh Fort
Answer: B.fuxiigTTs e
B.Chittorgarh Fort
14 YRATN HIU 5-PIHY D! o fafera § fasi s dvd?
Which e-commerce company In India organises the Big Billion Day sale?
A.foauaTe
A.Flipkart
B.HufsAm
B.SnapDeal
c.iusA
C.Amazon
Answer:  A.fouerd
A.Flipkart
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15 SITHRTA T3] UH RIS Afgar g,

The first Asian Woman to sail around the world is__

AT R
A.Golda Meir

B.3wddl UIcId
B.Ujwala Patil

c.R&wmal dsRIAS
C.Sirimavo Bandaranaike

D.gfcieT S
D.Vartika Joshi

Answer: B.3wlddl UIcId
B.Ujwala Patil

16 1872 TL ST HedTIRIA HRdTE! 2011 SRTUHT SO 3Tg.

Census 2011 is the census of India since the first census was conducted in 1872.

A12
A12

B.15
B.15

C.18
C.18

D.20
D.20

Answer: B.15
B.15
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17 GTeieTde! 1o STl I YD JHAR AR

Which of the following does not feature in the State List?

A RRARd, Sgdl, TRIIBT d Whicdh

A.Arms, firearms, ammunition and explosives.

B. 3 AT fUBRY
B.Officers of the High Court

C. & 3101 YYRUM]

C.Prisons and reformatories

D Ao Joaawil
D.Public order

Answer: A JRARd, §gPT, GARIST d Thicd
A.Arms, firearms, ammunition and explosives.

18 W] Faid T8 Uaig HIodT 3178 2

Which of the following options is the smallest?

A35+575+425-475-45-275+35-8.5
A35+575+425-4.75-45-2.75+3.5-8.5

B3.5+575-425-475+45+275+35+8.5
B.3.5+575-425-475+45+275+3.5+8.5

C35-575+425-375+55+7.75+3.5-55
C35-575+425-3.75+55+7.75+3.5-55

D55+525+275+325+45+275-35+85
D.55+525+275+325+45+275-35+85

Answer: A35+575+425-475-45-275+3.5-8.5
A35+575+425-475-45-275+35-8.5
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19 areita Hrferent guf o,
0,7,26,63,

Fill in the blank and complete the series: 0, 7, 26, 63,

A125
A125

B.124
B.124

C.128
C.128

D.126
D.126

Answer: B.124
B.124

20 ed e ol faeTr el g1y 3led.

Amendments to the Constitution are laid down in of the Constitution.

A YT 16
A.Part 16

B.HITT 18
B.Part 18

C.HIIT 20
C.Part 20

D.HI T 22
D.Part 22

Answer: C.HIIT 20
C.Part 20
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21 SAREH I TR TR Ufed HRATT AR HIUT 3ga?

Who is the first Indian-American to become governor of an American state?
A sl fSiare
A.Bobby Jindal

B.h Ul X8
B.Kalpana Shah

C.Aadiudgd
C.NavdeepBains

D5l Rigy

D.Harry Sidhu

Answer:  A.§Tel fiera
A.Bobby Jindal

22 §3.6383... § AQUIHId TATR B

How do you write 63.6363... as a fraction?

A.§oo/Q
A.600/9

B.\900/?%
B.700/11

C.URAR
C.599/9

D.400/%%
D.500/11

Answer: B.voo/qQ
B.700/11
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23

Answer:

24

Answer:

ITH PR URIS B

Uttam Kumar was a famous

ATSHRUT

A.Politician

B.UDTg

B.Sportsman

C. 3T
C.Actor

D%
D.Singer

C.3{f=ar
C.Actor

YRATIIA HIUTT IsATd gaid did Yed SRTET 311g?

In which state is India's longest train tunnel?

A STH 3101 HIRAR

A.Jammu and Kashmir

B.feH=a gewr

B.Himachal Pradesh

C.JRES
C.Uttrakhand

D.TfgH s
D.West Bengal

ASTH 310 HIRAR

A.Jammu and Kashmir
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25 15/25 +0.5-5/40="7

What is 15/25 + 0.5 - 5/40 ?

A.0.975
A.0.975

B.0.625
B.0.625

C.0.875
C.0.875

D.1.55
D.1.55

Answer: A.0.975
A.0.975

26 w1 feaxft 3fega Femd s w@rd=x faa It B ar fGaxi WId=ar Sl R
ST SfIGHITO STHITHR Gftrd el 7.

The Indian National Congress declared as 'Independence Day', when the
Declaration of Independence was officially promulgated.

A.26 STHART 1930
A.26 January 1930.

B.19 fgdaR 1929
B.19 December 1929.

C.15 3RS 1947
C.15 August 1947.

D.26 SHART 1950
D.26 January 1950.

Answer:  A.26 STHART 1930
A.26 January 1930.
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27 3HHHS 2017 98 3h < W BT Tsg B,

Oxford's 2017 Word of the Year was

AgYDHD
A.youthquake

B.URC TY
B.post truth

c.au
C.vape

D34S

D.emoji

Answer: A.Q\W
A.youthquake

28 WTdd Ul dac i Higult H.
[1]-1/3
2] 3/5
[3] -6/9
[4] 8/12

Arrange the following fractions in ascending order
[11-1/3

[2] 3/5

[3] -6/9

[4] 8/12

A3,1,2,4
A3,1,2,4

B.1,3,4,2
B.1,3,4,2

C4,21,3
C4,21.3

D.4,1,2,3
D.4,1,2,3
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Answer: A.3,1,24
A.3,1,24

29 54 A1 1/12 + 25 1 30% + 0.30 * 180 =

What is 1/12 of 54 + 30% of 25 + 0.30 * 180 ?

A.67.5
A.67.5

B.68
B.68

C.66
C.66

D.65.25
D.65.25

Answer: C.66
C.66

30 @lelielieh! Faid 8T $qulfeh IV 38 2

Which is the smallest among the following fractions?

A11/19
A11/19

B.12/20
B.12/20

C.12/21
C.12/21

D.11/18
D.11/18

Answer: C.12/21
C.12/21
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31 3R.&. A& TH RIS

RK Laxman was a famous

A&l
A.poet

B.IIA$h
B.singer

C ISTHRUN

C.politician

D. B R

D.cartoonist

D . THHR

D.cartoonist

Answer:

32 ST gatd HIST TS DIl 3T8?

Which is the largest continent in the world?

A STTRIT
A.Asia

B.3MMThahT
B.Africa

C.3iReferan

C.Australia

D.Gfefur 3MAR®T

D.South America

A STRMEAT
A.Asia

Answer:
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33 Sy 9d 4t sfir Hities sfeuiReaTes =T i ¥ad: =1 Aeghdid oia- a
fapTaTaTa! Reifores TRIT RITYT HRUTTEN 9 IrAquaran ISR Sl

of the Constitution confers upon all religious and linguistic minorities the right to set up
and administer educational institutions of their choice in order to preserve and develop their
own culture.

A.3T5C 18

A Article 18

B.3{Jw9G 30

B.Article 30

C.3m¢ 34

C.Article 34

D.3w9¢ 38

D.Article 38

Answer: B.\’d—:ﬁ\ﬁ{ 30

B.Article 30

34 Tiftear Sare UG 3{Tgd

Sofia Coppola is a famous

A TSRO

A.Politician

B. g

B.Sportswoman

C.hdIPR
C.Artist

D farexie®

D.Director

Answer: D.ﬁ"m

D.Director
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35 9.55+5.95+3.75-(9.55-3.95-3.75)=

What is 9.55 + 5.95 + 3.75 - (9.55-3.95-3.75) ?

A17.25

A17.25

B.17.15

B.17.15

C.17.75

C.A7.75

D.17.4

D.17.4

Answer: D.17.4

D.17.4

36 YR old dobd AT TTeg~R HIvT Ted?

Who is the current Governor of RBI?

AYRTH Sl
A.Raghu Ram Rajan

B.3ffd ued
B.Urjit Patel

c.Hies &
C.Montek Singh

D.3md I

s o
dl lﬁ? T
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Answer: B.3f5fd ucd
B.Urjit Patel

37 WTEde! 10T ST T eitd JHTI 38?2

Which of the following items is a part of the Concurrent List?

A fearesart

A. Bankruptcy and insolvency

B.P U IR DR
B.Taxes on agricultural income

C. X% Tadol 30T TgE Hidhe

C.Stock exchanges and futures markets

DX
D.Railways

Answer: A fearesart

A. Bankruptcy and insolvency

38 Wb Fald HIsT Uafg HIurdr 3g?

Which is the largest among the following options?

A.450 T 35%
A.35% of 450

B.1700 T 1/4
B.1/4 of 1700

C.0.35* 900
C.0.35* 900

D.1100 dT 2/5
D.2/5 of 1100

Answer: D.1100 dT 2/5
D 2/5 of 1100
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39

Answer:

Raman effect is related to

A TIRC SaTHY

A.White Dwarfs

B.HTHT= ATU&T
B.General relativity

C. I gIaard
C.Photon movement

D. &I B

D.Black holes

C. Il glaaTd

C.Photon movement

40 39 [ 1/6 + 44 U1 25% + 0.30 * 120 =

What is 1/6 of 39 + 25% of 44 + 0.30 * 120 ?

A.53.5
A.53.5

B.55
B.55

C.55.5
C.55.5

D.52.75
D.52.75

A.53.5
A.53.5

Answer:
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41 WU HIOTT STea It YHTd THGR SH1R?

Which of the following items is a part of the State List?

A S IUATER B
A.Taxes on agricultural income

B.3nfe 3for grmfore faree

B. Economic and social planning

c.ad
C.Forests
D . deaRedT fa=0T Sfl Pigfae s

D.Population control and family planning

Answer: A DY ITHATR B
A.Taxes on agricultural income

42 SigT THIe, farT de diel Hrsdwarar faa arer 3

When an aircraft is wetleased, it means

A.d TT0TaR SeRd SHTOT UT0gTaRe JGI0T HF Rehd

A.it can take off and land on water

B.TRS Y d UTUTTeR I dhd YU SEHaRe-Td ST U Yhd
B. it must take off from land, but it can land on water if required

;ﬁwmm%www“awﬁwmmm%

C. it comes with a crew

D.faamMTd eRear Ram feclt oa

D. alcohol is permitted on board

Answer: C.3R HISd@IaRd [aHM g =0T TATRISRISR d SR [AHMTT AN HIR! aiieRIeR fad
SITd

C. it comes with a crew
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43

Answer:

44

Answer:

SR BT b ATRIS AT YT FH0 81 Sd TR IRBHR JIHRI SHAAT gd™idt Jayd
BIBIAR Ufdee U] Il

In case of an epidemic, the government may restrict the Fundamental and can
impose restrictions in the interest of the general public.

A aTd=aTeT
A.Right to Freedom

B. OB SMfOT Reifres

B.Cultural and Educational rights

C RINUNiees fesum=an
C. Right against Exploitation

D JHMqA
D.Right to Equality

A XdTdATAT
A.Right to Freedom

ged YSIush! BV ST ard Redm Sesd ATg1?

Which of the following schedules of the Constitution is not correctly matched?

A.JRTA! ST ARUTcod SUBR, IO SaTaar=i

A.Twelfth Schedule: contains the powers, authority and responsibilities of Municipalities

B.3{hIdl g ST & 1101 SIRIfId SHTcil< U= 1o fAg=or
B.Eleventh Schedule: contains provisions as to the Administration and Control of
Scheduled Areas and Scheduled Tribes

C.Aad! It Tg! fafRIy wrie 9 fafraa= yemuiinron

C.Ninth Schedule: contains provisions as to validation of certain Acts and Regulations

D.3MTad uRTRIY: AFTaTITE HIwiR ard)

D.Eighth Schedule: contains the list of recognized languages

B. 31! SIRTal: IR & Sf0r SIRIferd STHTcile TR IO fozizror

B.Eleventh Schedule: contains provisions as to the Administration and Control of
Scheduled Areas and Scheduled Tribes
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45 gfd ¥dg ged-Hed ufafia s .

The representation of Newton-meter per second is:

AT

A. Siemens

B.®AR!

B. Calorie

cdc
C.Watt

D.5d

D.Joule

Answer: cdc
C.Watt

46 Qeite Arferept gof H.
SSM,TTW,TFS,

Fill in the blank and complete the series: S, M, T, W, T,F, S,

A.S
A.S

B.X
B.X

Cc.wW
C.W

D.T
D.T

Answer: A.S
A.S
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47 eI Ul aTg-TaT 9T dah e AISTUIITS! of SUHRUT dTURdId AN G iaud! H1a yafta
6K

Traffic police determines instantaneous speed of the vehicles with the help of a device
which emits

A3 agdh

A.Radio waves

B.Rud gt

B.Signal waves

C. IR a8

C.Sonar waves

D. U T8l

D.Light waves

Answer: ASI3fl FIBﬂ

A.Radio waves

48 TToeTdoh] 0T TR TAT ‘Ui S fiaTe SISReT @ Teurdd.

Which singer is globally often referred as the “King of Pop”?

A.TAaY O

A.Elvis Presley

B.AIS A SiagH

B. Michael Jackson

C .Sl A

C.George Michael

D .S 3™

D. Bryan Adams
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Answer: B. ARG Siagd

B. Michael Jackson

49 2014 A T YUl T IR SATRATS eRie gas, A, 7dt fawett sfr R o
<fr el g=ard Felt grt?

Which tennis tournament was launched by Mahesh Bhupati in 2014, with teams in four
Asian cities: Dubai, Manila, New Delhi and Singapore?

A SMTRRTSTY THfEeR ¢ o

A.International Premier Tennis League

B.3fST= Wt &

B.Indian Premier League

C.IASd <= @I

C.Global Tennis League

D. 3TRAPI ¢ B = T

D.International Tennis Federation League

Answer: A S{TARRIST THFRR ¢ o

A.International Premier Tennis League

50 DIUIAT Wb ST 2020 URIH desUTd e 3Tg?

Which sport has been excluded from Olympics 20207?

ADl

A.Wrestling
B.dsfHcH

B.Badminton

C.c9d ofHg
C.Table — Tennis
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Answer:

51

Answer:

52

D. &M ¢y

D.Lawn Tennis

AD!

A.Wrestling

A.0.0001 fort
A. 0.0001 mm

B.0.001 T
B. 0.001 mm

C.0.1 ot
C.0.1 mm

D.1 T

D.1 mm

D.1 o

D.1 mm

45 A1 1/18 + 50 =41 60% + 0.25 * 60 =

What is 1/18 of 45 + 60% of 50 + 0.25 * 60 ?

A.49
A.49

B.49.5
B.49.5

C.46.75
C.46.75

D.47.5
D.47.5
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Answer: D.47.5
D.47.5

53 T fAYFEHIGR HRUATd ST HIae 3T e d Baedl draeiveid fagear wmmef
dfgymr=r | Jhd 8.

The Constitutional provisions dealing with inconsistencies between laws made by
Parliament and laws made by the Legislatures of States are provided in

A.3J¢ 246

A.Article 246

B.3J=q 248

B.Article 248

C.3w5¢G 252

C.Article 252

D.3{Jw5q 254

D.Article 254

Answer: D.&Iﬂ@?{ 254

D.Article 254

54 s s ufg BId.

Sigmund Freud was a famous

A FfIRdH
A.psychoanalayst

ERIIUGE]

B.mathematician

C. 3R

C.economist

D . G ARG

D.astronomer

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

Answer: A TIfagYH

A.psychoanalayst

55 RIS Fald HH Ahaa STad Isg HIvd 3Tg?

Which is India's least populated state?

A Reotg
A.Sikkim

Bk

B.Mizoram

C. 313U d e
C.Arunachal Pradesh

BXIIGI
D.Goa

Answer: ARgp|
A.Sikkim

56 URA dfqem 3fqid ARG GaHd gaeh T SAAaSTauiy Sy sRicied 94
T TR i <ArTaard oo STUeRES a1 ArTU®R HoRk Hrd.

of the Constitution of India grants original jurisdiction to the Supreme Court on all
cases involving the enforcement of fundamental rights of citizens.

A3 TG 28

A Article 28

B.3{Jw9G 30

B.Article 30

C.31wq 32

C.Article 32

D.3{Jw5q 34

D.Article 34
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Answer: C.3{J®¢ 32

C.Article 32

57 SR @ 31T "HITIHR' 10T $ 38 UIHR, R WIed Garditie g1 el 9did agH
DI 3132

If @ = 'Divide' and $ = 'Multiply', then which is the 2nd smallest among the options?

A27@5
A27@5

B.1.5$4.25
B.1.5$4.25

C.22@3
C.22@3

D.3$3
D.3$3

Answer: B.1.5%$4.25
B.1.5%4.25

58 FTeiiede! Fard de SYUlie HIurdT 3Tg 2

Which of the following fractions is the least?

A.20/25
A.20/25

B.15/21
B.15/21

C.15/25
C.15/25

D.16/20
D.16/20

Answer: C.15/25

o A4L0 (D0
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59 R @ 38 "HRTIHR' 31T § 3R TUMHR', R WIeadd! gafd HiaT yafg Hiurdr smg?

If @ = 'Divide' and $ = 'Multiply', then which is the largest among the options?

A.39@5
A.39@5

B.3.5%4.5
B.3.5%4.5

C.31@4
C.31@4

D.2.75%4.5
D.2.75%4.5

Answer: B.3.5$4.5
B.3.5%4.5

60 SR @ 38 "HRTIHR' 31T § 318 TUMHR, R WIeiadd! gaid HieT Uafg HIvr 3mg?

If @ = 'Divide' and $ = 'Multiply', then which is the largest among the options?

A27@5
A27@5

B.2.5$3.5
B.2.5$3.5

C.19@3
C.19@3

D.3$3
D.3$3

Answer: D.3%$3
D.3%3
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61 T BT S AT W% 38, T &t g7 3f =T % 3TB.

Ais 5% of B. Then B is % of A.

ARo
A.10

B.Ro
B.20

C.Qoo
C.100

D.Rooo
D.2000

Answer: D.Rooo0
D.2000

62 3.25 + 2.55 + 4.75 - (5.25 - 8.75 + 2.25)

What is 3.25 + 2.55 + 4.75 - (6.25-8.75 + 2.25) ?

A.11.8
A.11.8

B.11.65
B.11.65

C.11.55
C.11.55

D.12.15
D.12.15

Answer: A.11.8
A.11.8
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63 40+399+2888+1.7777=__

What is the value of 4.0 + 3.99 + 2.888 + 1.7777

A.12.6557
A.12.6557

B.11.6557
B.11.6557

C.10.4557
C.10.4557

D.13.0057
D.13.0057

Answer: A.12.6557
A.12.6557

AaN

64 ST Sh el SSRIN 31 G371 9S-Iy SgaTaral 2018 T Hqtiidid R &I g
3Tg.

India’s ranking in 2018 edition of the World Bank's Ease of Doing Business Report is

A.100
A.100

B.120
B.120

C.130
C.130

D.147
D.147

Answer: A.100
A.100
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65 TAIE] G HIUTE] ST 94 3id aradl. SareRumie! I "Ieh A " 6.
5d 150 3ich AISTe SRIAT SATTUT o HISIAT fdbail AT 1 &1 b1l HISTdl?

A child reads out all digits of any number. For example Hundred is "One Zero Zero". He
once speaks out all the digits of numbers from 5 to 150. How many times does he come
across the digit '"1'?

A.74
A.74
B.74
B.74
C.85
C.85
D.76
D.76
Answer: C.85
C.85
66 o Ryaft gRig 3Ted
Ramesh Sippy is a famous
A.fatezi®
A.Director
CRIBED
B.Scientist
C B RUM
C.Politician
D. g
D.Singer
Answer: A fereeis
A.Director
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67 DT T TSN 2016 AT UF Hag! a1 Weld fdoiaue ehraa?

Which team won the men's 2017 Pro Kabaddi League tournament?

A.TTCUT URIRey

A.Patna Pirates

B.aT® g

B.Bengaluru Bulls

c.gydan
C.U Mumba

D.g-RI Ueied

D.Puneri Paltan

Answer: AYIcun 1?ITER?H
A.Patna Pirates

68 FTeieder! Fard g Uaid HIvTdT 3MTg ?

Which of the following options is the smallest?

A15-5+10-15-10+5-2-4+8-10
A15-5+10-15-10+5-2-4+8-10

B5+5-10-12+10+5-2+4-8-10
B5+5-10-12+10+5-2+4-8-10

C35+5+10-15-10-5+2-4+8-5
C35+5+10-15-10-5+2-4+8-5

D15+5+10-15-10-5-2+4+8-10
D15+5+10-15-10-5-2+4+8-10

Answer: B5+5-10-12+10+5-2+4-8-10
B5+5-10-12+10+5-2+4-8-10
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69

Answer:

70

Answer:

TMSgIT 07 HI0T Bich?

was the queen of Gondwana

A Ticatd!
A.Chandbibi

R EICRI

B.Rani Padmavati

C 1ot} gt

C.Rani Durgavati

D."RuigH
D.Nurjahan

C 1ot} gt

C.Rani Durgavati

A15$12$10@15$5$5@2$4 @8 $ 10
A15$12$10@15$535@2$4@8$ 10

B5@5310312@10@5%$2@4@8$ 10
B5@53$10312@10@5%$2@4@8$ 10

C15$5@10$15$10$5%$23$4@8$ 10
C15$5@10$15$10$532$4@8$ 10

D.15$25$10$15$5%$5$2%54@8%5
D15$25$10$15$5$5$2%4@8%5

D15$25$10$15$5$5$2%4@8%5
D.15$25$10$15$5%$5%2%34@8%5

SR @ 318 '+ 3T $ 31T ', TR WeiidUe! Jafd T8 YAl HIvrdr 3g?

If @ is '+'and $ is ', then which of the following options is the smallest?
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71

Answer:

72

Answer:

AT
A.Polo

B.gId!

B.Hockey

C. SifeRT
C. Boxing

DM
D.Golf

C. sifdT
C. Boxing

SR flier BT BRI AR ATIRdAI?

Laser printer uses which type of laser?

A.Sd W8R

A.Liquid laser

B.UfEFR sk

B.Excimer laser

C IAHHisPHer TR (e W)

C.semiconductor laser

D. S W

D. Dye laser

C.Afiwismer AR (3fGaTEd TW)
C.semiconductor laser

Sd, §P 9 AIRDC g Usd HIUAT WSTRN FTSId MTgd?

Jab, hook and uppercut are associated with which sport?
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73 SISIEE) Rt 3%

Ladakh is in the state of

A.STH 3TIOT HIER

A.Jammu & Kashmir

B.3WRIAS
B.Uttarakhand

C.IW UK
C.Uttar Pradesh

D.feHrd ucwr

D.Himachal Pradesh

Answer: AN 3107 HIRAR

A.Jammu & Kashmir

74 HIATAR T 2018 A HRAITA aid o0l auiugd fdeldl B0l 3Tg?

Who is India’s youngest-ever gold medallist at the Commonwealth Games 20187

A AT §31
A.Manika Batra

B. RS $UR

B.Neeraj Kumar

QLRI AR
C.Vinesh Phogat

D. 3R HaaT
D.Anish Bhanwala

Answer: D3I Hadl
D.Anish Bhanwala
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75 3ol TEY U SIges-51qe5 S(UR] G RI6X dhg U1 Teb RTeR UL TH BT, HRATdI

Twin cities' are two urban centers that are in close proximity, almost functioning as a single
city. Which of the following cities of India does not have a twin city?

ABEIG

A.Hyderabad

B.3fgHcldlg
B.Ahmadabad

C.ads

C.Chennai

D.faeeit

D.Delhi

Answer: C.aﬂ?f

C.Chennai

76 GTeTAde! HIOTT ST T JeATar AT SMed?

Which of the following items is a part of the Union List?

A.TTeY Yeryfar 3aHHE
A. Adulteration of foodstuffs

B.HIIR HoeT; e d SR faare
B.Trade unions; industrial and labour disputes

C. PSR, ITDIT 3T IR TaI™

C.Legal, medical and other professions

D. & HHAR! et i faare

D.Industrial disputes concerning Union employees

Answer: D.$E HHAR! Yafdd 3nenfie faarg

D.Industrial disputes concerning Union employees
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77 300 BT 3BT 4% T 4% Tl BiaTd ?

What is 25% of 25% of 3007

A.§oo T 0% AT ¢R.4%
A.10% of 12.5% of 600

B.300 &I Ko % AT ¢R.4%
B.50% of 12.5% of 300

C.R00 AT Y% AT R.U%
C.5% of 12.5% of 900

D.300 AT 0% =T 4o %
D.10% of 50% of 300

Answer: B.300 T kLo% =T R.4 %
B.50% of 12.5% of 300

78 SR @ 3§ "HRTHR' 3107 § 318 TOMHR, R WIeid Yaiaide! ga=a1 shHidb el vard dgH

P 3TR?

If @ = 'Divide' and $ = 'Multiply', then which is the 2nd smallest among the options?

A41@5
A41@5

B.3.5$2.5
B.3.5$2.5

C.33@4
C.33@4

D.3.75%2.5
D.3.75%2.5

Answer: C.33@4
C.33@4
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79 HRAH Rigmman fIeR g1 3G

In India, Right to education is

ATeYd YBR

A.a fundamental right

B.U% YeATH® 3UPR

B.a constitutional right

C.Ad! 8P IUBPR
C.human right

D.HICRIR 3fIPR

D.legal right

Answer: AHAHd DR

A.a fundamental right

80 YR RHRAT AR 9 I odelx - 9 3101 URd TRbRAT HIIE 1y -

o= TRt JedeR 3G,

is responsible for the administration of the Government of India (Transaction of
Business) Rules and the Government of India (Allocation of Business) Rules.

A 3= ATy
A.High Court

B.¥dle <Orad
B.Supreme Court

C . Hfanc Ifraray
C.The Cabinet Secretariat

D.9duy=

D.Prime Minister

Answer: C.dfac gfaared
C.The Cabinet Secretariat
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81 AMER G § <reft eiferd 3.

A Nageshwar Rao is associated with

ASHTST
A.Sports

B.lkue

B.Movies

C. e

C.Literature

D TSI RUT
D.Politics

Answer: ACELH

B.Movies

82 BICEISIE 311?&9(1 22 TR, ST T B B dlouldﬁwm&n?r&ﬂ%wwa«‘-ﬂw
o Sraradid gald Siaeen ARIcsieraifaHR e Sl sgd.

As per Article 22 of the Constitution, what is the maximum period within which a person
who is arrested and detained in custody shall be produced before the nearest magistrate?

A.24 dig
A.24 hours

B.48 did
B.48 hours

C.72d™H
C.72 hours

D.120 d™
D.120 hours

Answer: A.24 di¥
A.24 hours
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83 975+25+3.25-(275+3.5-475+05)=__

What is 9.75+2.5+3.25-(2.75+3.5-4.75+0.5) ?

A.13.85
A.13.85

B.13.5
B.13.5

C.13.35
C.13.35

D.13.25
D.13.25

Answer: B.13.5
B.13.5

84 ST TRIGR P SATGATd HRAT R 3G

Rank of India in global agricultural output is

A.1
A1

B.2
B.2

C.3
C.3

D.4
D.4

Answer: B.2
B.2

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

85 R014 A YRGS UIfersit ot GIftid HR0aTd AT, WTeades! oIl GRITA el &l
T UG MG 31Tg?

India was declared polio free in 2014. In which of the following countries is the disease still
endemic?

INCIEESIG)
A.Pakistan

ERSIENE

B.Mexico

C.AicidT
C.Sri Lanka

D.3foTed

D.Egypt

Answer: A TIfHEd
A.Pakistan

86 Je et I Higsi g,

Nandan Nilekani was the CEO of

AT

A.TCS

B.3 IR

B.Infosys

c.fam
C.Wipro

D IIH HIey
D.Satyam Computers

Answer: B.E‘r&ﬁﬁlﬂ

B.Infosys
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87 YeAIUR, HRATd ST YHRH! ST Te IR Jieliade! Th 3HR?
T) GGTHed dlahIcs
) geHTEHS JAVAT SUURHD STUahTa (Uil
I anffe srofiaroft

As per the Constitution, which of the following is a type of Emergency in India?
A) emergency due to war.

B) Emergency due to the failure of the constitutional machinery.

C) Financial Emergency.

AT 3{TfoT &Y
A.Aand B

B.Q o1
B.Aand C

C.Whad &t
C.Bonly

D.Q, &t 3ffor <t
D.A,Band C

Answer: D.G, &t 3for It
D.A,Band C

88 TS WEEe BN

One megabyte is equal to

A.1,048,576 digC
A.1,048,576 bytes.

B.1,024 93¢
B.1,024 bytes.

C.1,073,741,824 digcC
C.1,073,741,824 bytes.

D.1,099,511,627,776 dIgC
D.1,099,511,627,776 bytes.

Answer: A.1,048,576 dIgc
A.1,048,576 bytes.
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89

Answer:

90

Answer:

RIS e g srgaive Ry pammnl . gR YRdre! ARG U6

fa=ft (3ray varft e R gda S .

Citizenship of India by can be acquired by a foreigner (not illegal migrant) as

specified in Third Schedule to the Citizen Act.

A et

A. registration

B. g fifevur

B.naturalization

C. I
C.renunciation

D.%

D.descent

B. g fifevur

B.naturalization

Wit Fald T8 Uarg HIodT 3MTg 2

Which of the following options is the smallest?

A.25 <1 10% + 250 =471 15% - 300 =T 30%
A.10% of 25 + 15% of 250 - 30% of 300

B.25 =1 30% - 100 =T 25% + 250 =T 5%

B.30% of 25 - 25% of 100 + 5% of 250

C.150 =T 10% + 200 =T 15% - 250 <471 30%
C.10% of 150 + 15% of 200 - 30% of 250

D.100 =41 10% - 150 =T 25% + 300 AT 5%
D.20% of 100 - 25% of 150 + 5% of 300

A.25 1 10% + 250 =HT 15% - 300 =T 30%

A.10% of 25 + 15% of 250 - 30% of 300
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91

Answer:

92

Answer:

aoff fs Ui 3Mmed

Sergey Brin is a famous

A agrt

A.Businessman

B3I

B.Sportsman
C SIHRUf

C.Politician

D%
D.Singer

ATagrt

A.Businessman

AU ST

The study of coins is called

A guiceq
A.Epigraphy

B.ATUIRIA

B.Numismatics

C.dRIG
C.Genealogy

D. gl e
D.Manuscriptology

B.ATURIA

B.Numismatics

B Sifd.
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93 T ik ducH, W=, ST, THA dH-_ g1d 99 b 3B,

The organisation, independence, jurisdiction, powers and functions of the Supreme Court
are provided in

A MR Tfau™, 1950
A.Constitution of India, 1950

B. YR I T AHAFTT, 1861
B.Indian High Courts Act, 1861

C.HRd IIDHR hTdcl 1935
C.Government of India Act, 1935

D.HRd azAdl AFTH, 1947
D.India Independence Act, 1947

Answer: A.HRdT Afd4™, 1950
A.Constitution of India, 1950

94 YRATAIA digesTd Jdi IdTGH HIUMN I HI0d?

Which is the highest rice producing state in India?

A.USTd
A.Punjab

B.dTH&Tg

B.Tamil Nadu

C.Ui3H §ITe
C.West Bengal

D. 3R U

D.Uttar Pradesh

Answer: C.gig| $rd
C.West Bengal
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95 36 T 1/8 + 44 AT 25% U1 200% + 0.25 * 150 =

What is 1/8 of 36 + 200% of 25% of 44 + 0.25 * 150 ?

A.64
A.64

B.65.5
B.65.5

C.66
C.66

D.63.25
D.63.25

Answer: A.64
A.64

96 QTelieiieh! gaid @81 $quifes HIUTT 3HTe 2

Which of the following fractions is the least?

A.25/26
A.25/26

B.20/26
B.20/26

C.20/30
C.20/30

D.21/25
D.21/25

Answer: C.20/30
C.20/30
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97 90 T 20% - 15/25 + 1.25 =

20% of 90 - 15/25+1.25=__

A.19.15

A.19.15

B.18.4

B.18.4

C.19.05

C.19.05

D.18.65

D.18.65

Answer: D.18.65

D.18.65

98 WA Tafaiie! g1 i Jaid HIST HI0T 38?2

Which is the 2nd largest from among the given options?

A.450 T 35%
A.35% of 450

B.1700 <T 1/4
B.1/4 of 1700

C.0.35* 900
C.0.35* 900

D.1100 T 2/5

N2/ £ 44NN

I'TUVvU
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Answer: B.1700 dl 1/4
B.1/4 of 1700

99 G G U1 R00/- BUTAT fdhd dddl Sl ANt U a¥q fadhdIT Q0% dlel d Gkl a%q
fachearaR 20% T HTell. Cle! TXGaR TR0 TWhT ST dleT fabeft Far?

Two items are purchased for Rs. 100 each. One was sold at a loss of 10% and another at a
profit of 10%. What is the overall profit or loss?

A% Wl
A.1% profit

B.4% drel
B.5% loss

C.HIUIATE! T, THaH el

C.No profit, no loss

D.3% dlel
D.1% loss

Answer: C.®IUdTaT I, RCASIE] gl

C.No profit, no loss

100 8+55+12+6.25-(3.5+10-25+4)

Whatis8+55+12+6.25-(3.5+10-25+4)7

A.16.5

A.16.5

B.17.1

B.17.1
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C.16.75

C.16.75

D.16.6

D.16.6

Answer: C.16.75

C.16.75
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